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Polythene is a dielectric in which the molecules act as dipoles and line up with the field.
As you pull the dielectic out you are doing work against the attractive forces
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we got 3500cm3 whereas similar have 5.2-1.5=3.7Kg. IKg water is 1000cm3 therefore similar flasks have a volume of 3700cm3 cf 3500cf.

Our flask may be have fatter walls, so contains a bit less liquid. Perhaps it doesn't have water in it?
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Lenz's law says that the induced current will be in the direction that opposes the change that created it.

Close switch: flux in x increases which induces a current in y in anticlockwise direction thereby creating flux in the opposite direction to the increase in flux

Close switch: flux in x decreases. This time current flows clockwise as it opposes the decrease in flux that created it.
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period must be 24 hours
Need to be above the equator 
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height = 12000km, w=2.5x10-4
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w=2.54x10-4 rads/s (that's for the satellite)
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its further away so signal weaker as energy spread over a larger area

contact time longer though because the beam will have spread out more and therefore have a greater width
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